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1 Calculate:

AIUIAURY

900-1-99-2-98—-3-97-4-96= (3 marks)

2 What is the missing number? (3 marks)

anuuugtiifiamua i auauin e llaedawaula (3 Axiuw)

7’ 8’ 10’ 13’ 177 ,28

3 Calculate the total number of rectangle(s) which cover the 3 sign. (3 marks)

a1ngd asnanuuesgLdmasniuihiasesenausaadtydnenl 3 (3 Aziu)

o

4  What is the shape for 31% place? (3 marks)

mmmmﬂwmuumim ﬁ“ﬂ‘Vl 31 mmiﬂm (3 Az

Ok AAYYONAAY RO ..

5 What is the length of the pencil? (3 marks)

A9 10 (3 AZLL)

L 1 1 | 1 | | 1 | | T | 1 | cm
| — = g

( Joem(C  )mm

( ) LrALNms ( ) HaALnT
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6 Calculate:

AIUIAUBY

6+6+6+6x6-6="7(3 marks)

7 Draw 2 straight lines within the surface of a clock to separate it into 3 areas.
Summations of the numbers inside the three areas are equal. (3 marks)

aaEuRee 2 @uuwnihiaunding ieuiviunesniiy 3 dou tnsnasouaesanwnie luusazdouiian

WU (3 AZLUL)

8 5X3=| |+3

Fill the number in the box to satisfy the equation. (3 marks)

AuANA LAl |:| wiavin sz Ta adtydnenlifusds (3 Azuuw)

9 O+0=15 O—0O=1.
O = ? (3 marks)

anniselaadyaneaininvuali O fa1minle (3 Azuuw)
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10 Calculate the number of triangle in the figure below. (3 marks)

anguiinuuali Hausugtlaumassianuang (3 Azuuw)

11 How many numbers between 10 and 40 is the multiple of 3? (4 marks)

uUIUsEnd1e 10 1940 Haruuinifunyanees 3 iemuanatuy (4 Azuiw)

12 Calculate 25 x 4 x 13. (4 marks)

AQMAUE8 25 X 4 X 13, (4 Aziuw)

13 Calculate A+B+C = (4 marks)
upnres A+B+C =
ABC
ABC
+ ABC
2016

14 Inthe list of numbers 5, 8, 11, 14, ..., each number is 3 more than the number before fit.
What is the first number in the list that is greater than 100? (4 marks)

anuungl 5, 8, 11, 14, ... anwudaliusiazanwuiidsnnnanaiuauneuniine 3 asuauiunies lu

[
a aa

uuUgLi 1A1mnngn 100 iuanuauuen (4 pzuu)
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15 What is the missing piece of the diagram below? (4 marks)

gﬂﬁmﬂvl,ﬂ Aagilla (4 Azuuw)

16 What number does N represent? (4 marks)

N unusaaauule (4 Azuuw)

4x25=20xN

17 800-10-20-30-40-50-60-70-80-90=? (4 marks)

23111A1129 800 -10-20-30-40-50-60-70-80—-90

18 There are 350 chickens and rabbits on a farm. The number of chickens is four times the number
of rabbits. Find the number of chickens. (4 marks)

Tunr FunsianiiaRanulivaznsesinesiannn 350 fq wariliifudinreansyeng AlAiauuenfa (4 Aazuu)

19 3.15+18.99 + 2. 85— 7.99 = ? (4 marks)
AQA2893.15 + 18.99 + 2. 85 — 7.99 (4 Aazui)
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20 What is the value of A? (Write in fraction) (4 marks)
s wusellT e A (Wimaulugihawaaw) (4 Aziuw)
1 1 1 1 1 o
I I ] | I | =
2 A 4
21 The product of the age of three boys is 210. The sum of their age is 18. Find out the age of
eldest boy. (6 marks)
angpesLAnTnY 3 Au Anagnaviniu 210 wazuauanwingu 18 ifnane mu‘ﬁﬁmqmn‘ﬁ'qm Hangwinle
(6 AT
22 Inagroup of 90 students, 20 of them passed their Science, 84 of them passed their
Mathematics, 2 of them did not pass both subjects. How many students passed both subjects?
(6 marks)
Hiin G‘ﬂuﬂzﬁmﬁ\ié’nmu 90 AU 20 AudaLNIWITIINE AR 84 ALARLENUITIAIAANERT UAT 2 AL AL
Tt uTiagadie asndnThin BeuaeUEageiTn A (6 L)
23 Twenty rats ate 20kg of food in 20 days. How many kg of food could be eaten by 2 rats in 10

days? (6 marks)

wy 20 Fa Awa1ms 20 Alania Tuaan 2091wy 2 6a azfuauIvanNan N laniu lwaan 10 51 (6 Aziuw)
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24 The figure shown is made up of 6 congruent squares. The perimeter of the figure is 42 cm. It
is folded along the lines to form a box. How many 1-cm cubes can fit in the box? (6 marks)

anngUnnmua i ugl@wasndniantauiavinduimun 6 g Haueaseuglvindy 42 wukiums

1
a

o v | ! ! ! o‘d‘d 14 a 14 ://
hanasailunaes 1naes azanunsnlagnunaimilauiasniuas 1 uimuns EMeuengn (6 Azuiw)

25 A palindrome is a whole number that reads the same forwards or backwards (e.g. 62026). If
the speedometer of a car shows 39093 km, what is the next palindrome numbers?

AMUUNIAUIATN AR AN UNAIN1 D a1 WA e T 0N vRe91 TdE R aglianwauLsn 1w 62026 B1utinte

SAANNB1999 08 W ARz een 39093 AnunusialUiiuanuuniaulnsuAea I wle (6 AzwL)

“@enszanyaaunsaNAUNITEM BN bdTa-wNaNa TeAUTY HNIINMIANFDY

o 4
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